[bookmark: _GoBack]Workshop Examples
CUPPACUMALONGA
by C.J. Dennis
"Rover, rover, cattle-drover, where go you to-day?"
I go to Cuppacumalonga, fifty miles away;
Over plains where Summer rains have sung a song of glee,
Over hills where laughing rills go seeking for the sea,
I go to Cuppacumalonga, to my brother Bill.
Then come along, ah, come along!
Ah, come to Cuppacumalonga!
Come to Cuppacumalonga Hill!

The Importance of Being Earnest
FIRST ACT
SCENE
Morning-room in Algernon’s flat in Half-Moon Street. The room is luxuriously and artistically furnished. The sound of a piano is heard in the adjoining room.
[Lane is arranging afternoon tea on the table, and after the music has ceased, Algernon enters.]
Algernon: Did you hear what I was playing, Lane?
Lane: I didn’t think it polite to listen, sir.



Maths Examples
1.	On the same axis, plot the graphs of y = 2x, y = 2x+1, y = 2x+2 and y = 2x+3.
a.	Are there any points of intersection?
b. 	Determine the points of intersection of the graphs already drawn and y = 3x+6.
16.	Gary is currently 31 years older than his daughter. In 30 years’ time he will be twice his daughter’s age. Using g for Gary’s current age and d for Gary’s daughter’s current age, complete the following.
a.	Write down expressions for:
i. Gary’s age in 30 years’ time
ii. Gary’s daughter’s age in 30 years’ time
b.	Write down two linear equations using the information at the start.
3.	(a)	(i)	Which two numbers multiply to give 15 and add to give 
		8?
(ii)	Complete x2+8x+15 = (_)(_).
(b)	(i)	Which two numbers multiply to give −10 and add to 
		give 3?
(ii)	Complete x2+3x−10 = (_)(_).


Answers
1. a. Min, lower quartile (Q1), median (Q2), upper quartile (Q3), max
b. Range is max−min; IQR is Q3−Q1. Range is the spread of all the data, IQR is the spread of the middle 50% of data.
12. a. Min, lower quartile (Q1), median (Q2), upper quartile (Q3), max
b. Range is max−min; IQR is Q3−Q1. Range is the spread of all the data, IQR is the spread of the middle 50% of data.
2. a. Q1−1.5×IQR 
    b. Q3+1.5×IQR
5. a. i. Q1 = 4, Q3 = 8
ii. 4
b. i. Q1 = 11, Q3 = 18
ii. 7
10. a. i. Q1 = 4, Q3 = 8
ii. 4
b. i. Q1 = 11, Q3 = 18
ii. 7

